Mathematical Relations?


	1. Two children, Alex and Ben, have shared some money in the ratio 1:10.  Alex got £4. How much did Ben get and how much money did they share in total?

2. Two children, Catherine and Damian, have shared some money in the ratio 2:5.  Catherine got £10. How much did Damian get and how much money did they share in total?

3. Two children, Edward and Felicity, have shared some money in the ratio 5:11.  Felicity got £99. How much did Edward get and how much money did they share in total?

4. Two children, Gregg aged 5 and Harry aged 8, have shared some money in the ratio of their ages.  Gregg got £90. How much did Harry get and how much money did they share in total?


	1. After a sale the price of an article in a shop increases from £6 to £60. What percentage increase is this?

2. After a sale the price of an article in a shop increases from £10 to £25. What percentage increase is this?

3. After a sale the price of an article in a shop increases from £15 to £33. What percentage increase is this?

4. After a sale the price of an article in a shop increases from £50 to £80. What percentage increase is this?


	1. a) How many cm is 50 mm?

b) How many mm is 100cm?

c) Which is bigger, 25cm or 220mm?

2. a) How many cm is 3 inches?

b) How many inches is 15 cm?

c) Which is bigger, 28cm or 6 inches?

3. a) How many lbs is 5kg?

b) How many kg’s is 11lbs?

c) Which is bigger, 100kg or 50lbs?

4. a) How many miles is 28 km?

b) How many kilometres is 25 miles?

c) Which is bigger, 64 km or 46 miles? 


	The triangles shown below (not drawn to scale) are mathematically similar. Find the lengths of the missing sides.
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